

Linear Consecutive k -out-of- n Unrepairable System

Nurwidiyanto

School of Science, Nanchang University,
999 Xuefu Road, Honggutan New District, Nanchang, Jiangxi Province, P.R. China
Telp:+86-791-83969099 Fax:+86-791-83969069
ynurwidi@gmail.com

Abstract-The consecutive k -out-of- n repairable system has always been very popular models in reliability mathematics. It has been used to model various engineering systems, such as street-lamp system, microwave stations of a telecom network, oil pipeline system, and other engineering fields. This paper researched a linear consecutive k -out-of- n unrepairable system. Assuming the system has no repairman, and the working time of each component is negative exponentially distributed and independent of each other. Firstly, study the linear consecutive four out of eight fail system in the particular example. Then we discuss two kinds of three and two units out of eight units fail, the system cannot work. Finally, according to the relationship of the n and k , the system will be discussed three cases to obtain failed probability and reliability by using total probability formula.

Key words: k -out-of- n unrepairable system, key component.

1. Introduction

An n component system that works (or is “good”) if and only if at least k of the n components work (or are good) is called a k -out-of- n : G system. An n component system that fails if and only if at least k of the n components fail is called a k -out-of- n : F system. Based on these two definitions, a k -out-of- n : G system is equivalent to an $(n-k+1)$ -out-of- n : F system. The term k -out-of- n system is often used to indicate either a G system or an F system or both. Since the value of n is usually larger than the value of k , redundancy is generally built into a k -out-of- n system. Both parallel and series systems are special cases of the k -out-of- n system. A series system is equivalent to a 1 -out-of- n : F system and to an n -out-of- n : G system while a parallel system is equivalent to an n -out-of- n : F system and to a 1 -out-of- n : G system.

The k -out-of- n system structure is a very popular type of redundancy in fault tolerant systems. It is well known that a microwave signal transmitting system is composed of many relay stations, and these relay stations are arranged linearly (circularly). Usually, people use the redundancy design to improve the reliability of the system, a parallel system is just a typical redundancy system. Microwave signal transmitting systems are often designed using the redundancy method, that is, each relay station can transmit a signal reaching the next k relay stations. Thus, the system fails if and only if at least k adjacent relay stations fail in the system, it is named consecutive k -out-of- n : F system. Now, we consider a more complex system, that is named as m consecutive k -out-of- n : F system, the consecutive k -out-of- n : F system is its special case ($m = 1$). If we consider that components are repairable, then such system is called a repairable m consecutive k -out-of- n : F system. In this paper, we consider only a linear system.

Among applications of the k -out-of- n system model, the design of electronic circuits such as very large scale integrated (VLSI) and the automatic repairs of faults in an online system would be the most conspicuous. This type of system demonstrates what is called the voting redundancy. In such a

system, several parallel outputs are channeled through a decision-making device that provides the required system function as long as at least a predetermined number k of n parallel outputs are in agreement.

In this paper, we provide a detailed coverage on reliability evaluation of the linear consecutive k – out – of – n unrepairable systems. Firstly, study the linear consecutive four out of eight fail system in the particular example. Then we discuss two kinds of three and two units out of eight units fail, the system cannot work. Finally, according to the relationship of the n and k , the system will be discussed three cases to obtain failed probability and reliability by using total probability formula.

2. Assumptions

The system is composed of n component parts of the same model, the i part is expressed by B_i ($i = 1, 2, \dots, n$) and in order to facilitate the discussion, the following hypothesis is made:

- (1) Components are beyond repair after failure;
- (2) The failure circumstances in the totals $n - k + 1$;
- (3) A_i indicates that there are successively $B_i B_{i+1} \dots B_{i+k-1}$ failure circumstances; ($i = 1, 2, \dots, n - k + 1$)
- (4) n components of the same model comply with the distribution of negative exponential λ , and every component is independent from each other.

3. Reliability Analysis of Special Circumstances

According to the above assumptions, the probability of A_i :

$$P(A_i) = \left[\int_0^t (\lambda e^{-\lambda t}) dt \right]^k = (1 - e^{-\lambda t})^k, (i = 1, 2, \dots, n - k + 1)$$

The Formula of System failure probability:

$$\begin{aligned} & P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) \\ &= \sum_{i=1}^{n-k+1} P(A_i) - \sum_{i=1}^{n-k} \sum_{j=2, j>i}^{n-k+1} P(A_i A_j) + \sum_{i=1}^{n-k-1} \sum_{j=2, j>i}^{n-k} \sum_{l=3, l>j}^{n-k+1} P(A_i A_j A_l) \\ & \dots + (-1)^{n-k} P(A_1 A_2 A_3 \dots A_{n-k} A_{n-k+1}) \end{aligned}$$

Now, $n = 8, k = 4$; $n = 8, k = 3$; $n = 8, k = 2$ three circumstances are discussed.

(1) $n = 8, k = 4$

According to the definition and the above assumptions, the system has five kinds of failure circumstances:

$$A_1 (B_1 B_2 B_3 B_4), A_2 (B_2 B_3 B_4 B_5), A_3 (B_3 B_4 B_5 B_6), A_4 (B_4 B_5 B_6 B_7), A_5 (B_5 B_6 B_7 B_8)$$

$$P(A_1) = P(A_2) = P(A_3) = P(A_4) = P(A_5) = (1 - e^{-\lambda t})^4$$

$$P(A_1 A_2) = P(A_2 A_3) = P(A_3 A_4) = P(A_4 A_5) = (1 - e^{-\lambda t})^5$$

$$P(A_1 A_3) = P(A_2 A_4) = P(A_3 A_5) = (1 - e^{-\lambda t})^6$$

$$P(A_1 A_4) = P(A_2 A_5) = (1 - e^{-\lambda t})^7$$

$$P(A_1 A_5) = (1 - e^{-\lambda t})^8$$

$$P(A_1 A_2 A_3) = P(A_2 A_3 A_4) = P(A_3 A_4 A_5) = (1 - e^{-\lambda t})^6$$

$$P(A_1A_2A_4) = P(A_1A_3A_4) = P(A_2A_3A_5) = P(A_2A_4A_5) = (1 - e^{-\lambda t})^7$$

$$P(A_1A_2A_5) = P(A_1A_3A_5) = P(A_1A_4A_5) = (1 - e^{-\lambda t})^8$$

$$P(A_1A_2A_3A_4) = P(A_2A_3A_4A_5) = (1 - e^{-\lambda t})^7$$

$$P(A_1A_2A_3A_5) = P(A_1A_2A_4A_5) = P(A_1A_3A_4A_5) = (1 - e^{-\lambda t})^8$$

$$P(A_1A_2A_3A_4A_5) = (1 - e^{-\lambda t})^8$$

The system failure probability $P(t)$ and reliability system $R(t)$ are

$$P(A_1 \cup A_2 \cup A_3 \cup A_4 \cup A_5)$$

$$\begin{aligned} &= 5(1 - e^{-\lambda t})^4 - 4(1 - e^{-\lambda t})^5 - 3(1 - e^{-\lambda t})^6 - 2(1 - e^{-\lambda t})^7 - 1(1 - e^{-\lambda t})^8 + \\ &3(1 - e^{-\lambda t})^6 + 4(1 - e^{-\lambda t})^7 + 3(1 - e^{-\lambda t})^8 - 2(1 - e^{-\lambda t})^7 - 3 \\ &(1 - e^{-\lambda t})^8 + (1 - e^{-\lambda t})^4 + 4(1 - e^{-\lambda t})^5 + 3(1 - e^{-\lambda t})^6 + 2(1 - e^{-\lambda t})^7 + 1(1 - e^{-\lambda t})^8 - \\ &3(1 - e^{-\lambda t})^6 - 4(1 - e^{-\lambda t})^7 - 3(1 - e^{-\lambda t})^8 + 2(1 - e^{-\lambda t})^7 + 3 \\ &(1 - e^{-\lambda t})^8 - (1 - e^{-\lambda t})^8 \end{aligned}$$

(2) $n = 8, k = 3$

According to the definition and the above assumptions, the system has six kinds of failure circumstances:

$$A_1(B_1B_2B_3), A_2(B_2B_3B_4), A_3(B_3B_4B_5), A_4(B_4B_5B_6), A_5(B_5B_6B_7), A_6(B_6B_7B_8)$$

$$P(A_1) = P(A_2) = P(A_3) = P(A_4) = P(A_5) = P(A_6) = (1 - e^{-\lambda t})^3$$

$$P(A_1A_2) = P(A_2A_3) = P(A_3A_4) = P(A_4A_5) = P(A_5A_6) = (1 - e^{-\lambda t})^4$$

$$P(A_1A_3) = P(A_2A_4) = P(A_3A_5) = P(A_4A_6) = (1 - e^{-\lambda t})^5$$

$$P(A_1A_4) = P(A_1A_5) = P(A_1A_6) = P(A_2A_5) = P(A_2A_6) = P(A_3A_6) = (1 - e^{-\lambda t})^6$$

$$P(A_1A_2A_3) = P(A_2A_3A_4) = P(A_3A_4A_5) = P(A_4A_5A_6) = (1 - e^{-\lambda t})^5$$

$$P(A_1A_2A_4) = P(A_1A_3A_4) = P(A_2A_3A_5) = P(A_2A_4A_5) = P(A_3A_4A_6) = P(A_3A_5A_6) = (1 - e^{-\lambda t})^6$$

$$P(A_1A_2A_5) = P(A_1A_2A_6) = P(A_1A_3A_5) = P(A_1A_4A_5) = P(A_1A_5A_6)$$

$$= P(A_2A_3A_6) = P(A_2A_4A_6) = P(A_2A_5A_6) = (1 - e^{-\lambda t})^7 \quad P(A_1A_3A_6) = P(A_1A_4A_6) = (1 - e^{-\lambda t})^8$$

$$P(A_1A_2A_3A_4) = P(A_2A_3A_4A_5) = P(A_3A_4A_5A_6) = (1 - e^{-\lambda t})^6$$

$$P(A_1A_2A_3A_5) = P(A_1A_2A_4A_5) = P(A_1A_3A_4A_5) = P(A_2A_3A_4A_6)$$

$$= P(A_2A_3A_5A_6) = P(A_2A_4A_5A_6) = (1 - e^{-\lambda t})^7$$

$$P(A_1A_2A_3A_6) = P(A_1A_2A_4A_6) = P(A_1A_3A_5A_6) = P(A_1A_3A_4A_6)$$

$$= P(A_1A_3A_5A_6) = P(A_1A_4A_5A_6) = (1 - e^{-\lambda t})^8$$

$$P(A_1A_2A_3A_4A_5) = P(A_2A_3A_4A_5A_6) = (1 - e^{-\lambda t})^7$$

$$P(A_1A_2A_3A_4A_6) = P(A_1A_2A_3A_5A_6) = P(A_1A_2A_4A_5A_6) = P(A_1A_3A_4A_5A_6) = (1 - e^{-\lambda t})^8$$

$$P(A_1A_2A_3A_4A_5A_6) = (1 - e^{-\lambda t})^8$$

The system failure probability $P(t)$ and reliability system $R(t)$ are $P(A_1 \cup A_2 \cup A_3 \cup A_4 \cup A_5 \cup A_6)$

$$= 6(1 - e^{-\lambda t})^3 - 5(1 - e^{-\lambda t})^4 - 4(1 - e^{-\lambda t})^5 - 6(1 - e^{-\lambda t})^6 + 4(1 - e^{-\lambda t})^5 +$$

$$6(1 - e^{-\lambda t})^6 + 8(1 - e^{-\lambda t})^7 + 2(1 - e^{-\lambda t})^8 - 3(1 - e^{-\lambda t})^6 - 6(1 - e^{-\lambda t})^7 -$$

$$6(1 - e^{-\lambda t})^8 + 2(1 - e^{-\lambda t})^7 + 4(1 - e^{-\lambda t})^8 - (1 - e^{-\lambda t})^8$$

$$R(t) = 1 - 6(1 - e^{-\lambda t})^3 + 5(1 - e^{-\lambda t})^4 + 4(1 - e^{-\lambda t})^5 + 6(1 - e^{-\lambda t})^6 - 4(1 - e^{-\lambda t})^5 -$$

$$6(1 - e^{-\lambda t})^6 - 8(1 - e^{-\lambda t})^7 - 2(1 - e^{-\lambda t})^8 + 3(1 - e^{-\lambda t})^6 + 6(1 - e^{-\lambda t})^7 +$$

$$6(1 - e^{-\lambda t})^8 - 2(1 - e^{-\lambda t})^7 - 4(1 - e^{-\lambda t})^8 + (1 - e^{-\lambda t})^8$$

$$(3) \quad n = 8, \quad k = 2$$

According to the definition and the above assumptions, the system has seven kinds of failure circumstances:

$$A_1(B_1B_2), A_2(B_2B_3), A_3(B_3B_4), A_4(B_4B_5), A_5(B_5B_6), A_6(B_6B_7), A_7(B_7B_8)$$

$$P(A_1) = P(A_2) = P(A_3) = P(A_4) = P(A_5) = P(A_6) = P(A_7) = (1 - e^{-\lambda t})^2$$

$$P(A_1A_2) = P(A_2A_3) = P(A_3A_4) = P(A_4A_5) = P(A_5A_6) = P(A_6A_7) = (1 - e^{-\lambda t})^3$$

$$P(A_1A_3) = P(A_1A_4) = P(A_1A_5) = P(A_1A_6) = P(A_1A_7) = P(A_2A_4) = P(A_2A_5) =$$

$$P(A_2A_6) = P(A_2A_7) = P(A_3A_5) = P(A_3A_6) = P(A_3A_7) = P(A_4A_6) = P(A_4A_7) =$$

$$P(A_5A_7) = (1 - e^{-\lambda t})^4$$

$$P(A_1A_2A_3) = P(A_2A_3A_4) = P(A_3A_4A_5) = P(A_4A_5A_6) = P(A_5A_6A_7) = (1 - e^{-\lambda t})^4$$

$$P(A_1A_2A_4) = P(A_1A_2A_5) = P(A_1A_2A_6) = P(A_1A_2A_7) = P(A_1A_3A_4)$$

$$= P(A_1A_4A_5) = P(A_1A_5A_6) = P(A_1A_6A_7) = P(A_2A_3A_5) = P(A_2A_3A_6)$$

$$= P(A_2A_3A_7) = P(A_2A_4A_5) = P(A_2A_5A_6) = P(A_2A_6A_7) = P(A_3A_4A_6)$$

$$= P(A_3A_4A_7) = P(A_3A_5A_6) = P(A_3A_6A_7) = P(A_4A_5A_7) = P(A_4A_6A_7) = (1 - e^{-\lambda t})^5$$

$$P(A_1A_3A_5) = P(A_1A_3A_6) = P(A_1A_3A_7) = P(A_1A_4A_6) = P(A_1A_4A_7)$$

$$= P(A_1A_5A_7) = P(A_2A_4A_6) = P(A_2A_4A_7) = P(A_2A_5A_7) = P(A_3A_5A_7) = (1 - e^{-\lambda t})^6$$

$$P(A_1A_2A_3A_4) = P(A_2A_3A_4A_5) = P(A_3A_4A_5A_6) = P(A_4A_5A_6A_7) = (1 - e^{-\lambda t})^5$$

$$\begin{aligned}
&P(A_1A_2A_3A_5) = P(A_1A_2A_3A_6) = P(A_1A_2A_3A_7) = P(A_1A_2A_4A_5) = P(A_1A_2A_5A_6) = \\
&P(A_1A_2A_6A_7) = P(A_1A_3A_4A_5) = P(A_1A_4A_5A_6) = P(A_1A_5A_6A_7) = P(A_2A_3A_4A_6) = \\
&P(A_2A_3A_4A_7) = P(A_2A_3A_5A_6) = P(A_2A_3A_6A_7) = P(A_2A_4A_5A_6) = P(A_2A_5A_6A_7) = \\
&P(A_3A_4A_5A_7) = P(A_3A_4A_6A_7) = P(A_3A_5A_6A_7) = (1 - e^{-\lambda t})^6 \\
&P(A_1A_2A_4A_6) = P(A_1A_2A_4A_7) = P(A_1A_2A_5A_7) = P(A_1A_3A_4A_6) = \\
&P(A_1A_3A_4A_7) = P(A_1A_3A_5A_6) = P(A_1A_3A_6A_7) = P(A_1A_4A_5A_7) = \\
&P(A_1A_4A_6A_7) = P(A_2A_3A_5A_7) = P(A_2A_4A_5A_7) = P(A_2A_4A_6A_7) = (1 - e^{-\lambda t})^7 \\
&P(A_1A_3A_5A_7) = (1 - e^{-\lambda t})^8 \quad P(A_1A_2A_3A_4A_5) = P(A_2A_3A_4A_5A_6) = P(A_3A_4A_5A_6A_7) = (1 - e^{-\lambda t})^6 \\
&P(A_1A_2A_3A_4A_6) = P(A_1A_2A_3A_4A_7) = P(A_1A_2A_3A_5A_6) = P(A_1A_2A_3A_6A_7) \\
&= P(A_1A_2A_4A_5A_6) = P(A_1A_2A_5A_6A_7) = P(A_1A_3A_4A_5A_6) = P(A_1A_4A_5A_6A_7) \\
&= P(A_2A_3A_4A_5A_7) = P(A_2A_3A_4A_6A_7) = P(A_2A_3A_5A_6A_7) = P(A_2A_2A_5A_6A_7) = (1 - e^{-\lambda t})^7 \\
&P(A_1A_2A_3A_5A_7) = P(A_1A_2A_4A_5A_7) = P(A_1A_2A_4A_6A_7) = P(A_1A_3A_4A_5A_7) \\
&= P(A_1A_3A_4A_6A_7) = P(A_1A_3A_5A_6A_7) = (1 - e^{-\lambda t})^8 \\
&P(A_1A_2A_3A_4A_5A_7) = P(A_1A_2A_3A_4A_6A_7) = P(A_1A_2A_3A_5A_6A_7) = P(A_1A_2A_4A_5A_6A_7) \\
&= P(A_1A_3A_4A_5A_6A_7) = (1 - e^{-\lambda t})^8 \\
&P(A_1A_2A_3A_4A_5A_6A_7) = (1 - e^{-\lambda t})^8
\end{aligned}$$

The system failure probability $P(t)$ and reliability system $R(t)$ are

$$\begin{aligned}
&P(A_1 \cup A_2 \cup A_3 \cup A_4 \cup A_5 \cup A_6 \cup A_7) \\
&= 7(1 - e^{-\lambda t})^2 - 6(1 - e^{-\lambda t})^3 - 16(1 - e^{-\lambda t})^4 + 5(1 - e^{-\lambda t})^4 + 20(1 - e^{-\lambda t})^5 + \\
&10(1 - e^{-\lambda t})^6 - 4(1 - e^{-\lambda t})^5 - 18(1 - e^{-\lambda t})^6 - 12(1 - e^{-\lambda t})^7 - (1 - e^{-\lambda t})^8 + \\
&3(1 - e^{-\lambda t})^6 + 12(1 - e^{-\lambda t})^7 + 6(1 - e^{-\lambda t})^8 - 2(1 - e^{-\lambda t})^7 - 5(1 - e^{-\lambda t})^8 + (1 - e^{-\lambda t})^8 \\
&= 7(1 - e^{-\lambda t})^2 - 6(1 - e^{-\lambda t})^3 - 11(1 - e^{-\lambda t})^4 + 16(1 - e^{-\lambda t})^5 - 5(1 - e^{-\lambda t})^6 - \\
&2(1 - e^{-\lambda t})^7 + (1 - e^{-\lambda t})^8 \\
&R(t) = 1 - 7(1 - e^{-\lambda t})^2 + 6(1 - e^{-\lambda t})^3 + 11(1 - e^{-\lambda t})^4 - 16(1 - e^{-\lambda t})^5 + 5(1 - e^{-\lambda t})^6 + \\
&2(1 - e^{-\lambda t})^7 - (1 - e^{-\lambda t})^8
\end{aligned}$$

4. Reliability Analysis of General Circumstances

(1) When $k < n \leq 2k$

$$\begin{aligned}
R(t) &= 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n-k+1)(1 - e^{-\lambda t})^k \\
&- \sum_{i=0}^{n-k-1} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \sum_{i=1}^{n-k-1} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \dots +
\end{aligned}$$

$$+(-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1-e^{-\lambda t})^n + (-1)^{n-1} (1-e^{-\lambda t})^n] (2)$$

when $2k < n \leq 3k$

$$R(t) = 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n-k+1)(1-e^{-\lambda t})^k - \sum_{i=0}^{k-2} C_i^0 (n-k-i)(1-e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n-k-i)(1-e^{-\lambda t})^{2k} + \sum_{i=1}^{n-k-1} C_i^1 (n-k-i)(1-e^{-\lambda t})^{k+1+i}]$$

(3) when $3k < n \leq 4k$

$$R(t) = 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n-k+1)(1-e^{-\lambda t})^k - \sum_{i=0}^{k-2} C_i^0 (n-k-i)(1-e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n-k-i)(1-e^{-\lambda t})^{2k} + \sum_{i=1}^{2k-2} C_i^1 (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \sum_{i=2k-1}^{n-k-1} C_i^1 (n-k-i)(1-e^{-\lambda t})^{3k} - \sum_{i=2}^{n-k-1} C_i^2 (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots + (-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1-e^{-\lambda t})^n + (-1)^{n-1} (1-e^{-\lambda t})^n]$$

Proof: (1) $P(A_i A_j) (i \neq j; i = 1, 2, \dots, n-k; j = 2, 3, 4, \dots, n-k+1)$

Tabel 2.1 Probability Calculation $A_i A_j$

$A_i A_j$	Total number of situations	Failed number of component	Probabilities (P)
$A_i A_{i+1} (i = 1, 2, \dots, n-k)$	$n-k$	$k+1$	$= (n-k)(1-e^{-\lambda t})^{k+1}$
$A_i A_{i+2} (i = 1, 2, \dots, n-k-1)$	$n-k-1$	$k+2$	$= (n-k-1)(1-e^{-\lambda t})^{k+2}$
$A_i A_{i+3} (i = 1, 2, \dots, n-k-2)$	$n-k-2$	$k+3$	$= (n-k-2)(1-e^{-\lambda t})^{k+3}$
...
$A_i A_{i+n-k-1} (i = 1, 2)$	2	$n-1$	$= 2(1-e^{-\lambda t})^{n-1}$
$A_1 A_{n-k+1}$	1	n	$= (1-e^{-\lambda t})^n$

$P(A_i A_j A_l) (i \neq j \neq l; i = 1, 2, \dots, n-k-1; j = 2, 3, 4, \dots, n-k; l = 3, 4, \dots, n-k+1)$ calculation tabel 2.2

By this analogy

$$P(A_{i_1} A_{i_2} \dots A_{i_m}) = \sum_{i=m-2}^{n-k+1} C_i^{m-2} (n-k-i)(1-e^{-\lambda t})^{k+1+i}$$

$p(t)$ and $R(t)$ are

$$\begin{aligned}
p &= P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) \\
&= \sum_{i=1}^{n-k+1} P(A_i) - \sum_{i=1}^{n-k} \sum_{j=2, j>i}^{n-k+1} P(A_i A_j) + \sum_{i=1}^{n-k-1} \sum_{j=2, j>i}^{n-k} \sum_{l=3, l>j}^{n-k+1} P(A_i A_j A_l) + \dots + (-1)^{n-k} P(A_1 A_2 A_3 \dots A_{n-k} A_{n-k+1}) \\
&= (n-k+1)(1-e^{-\lambda t})^k - \sum_{i=0}^{n-k-1} C_i^0 (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \sum_{i=1}^{n-k-1} C_i^1 (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots \\
&+ (-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1-e^{-\lambda t})^n + (-1)^{n-1} (1-e^{-\lambda t})^n \\
R(t) &= 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n-k+1)(1-e^{-\lambda t})^k \\
&- \sum_{i=0}^{n-k-1} C_i^0 (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \sum_{i=1}^{n-k-1} C_i^1 (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots + \\
&+ (-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n-k-i)(1-e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1-e^{-\lambda t})^n + (-1)^{n-1} (1-e^{-\lambda t})^n]
\end{aligned}$$

Table 2.2 Probability Calculation $A_i A_j A_l$

$A_i A_j A_l$	Total number of situations	Failed number of component	Probabilities (P)
$A_i A_{i+1} A_{i+2} (i = 1, 2, \dots, n-k-1)$	$n-k-1$	$k+2$	$= C_1^1 (n-k-1)(1-e^{-\lambda t})^{k+2}$
$A_i A_{i+2} A_{i+3} \text{ or } A_i A_{i+1} A_{i+3} (i = 1, 2, \dots, n-k-1)$	$n-k-2$	$k+3$	$= C_2^1 (n-k-2)(1-e^{-\lambda t})^{k+3}$
$A_i A_{i+3} A_{i+4} \text{ or } A_i A_{i+1} A_{i+4} \text{ or } A_i A_{i+2} A_{i+4} (i = 1, 2, \dots, n-k-3)$	$n-k-3$	$k+3$	$= C_3^1 (n-k-3)(1-e^{-\lambda t})^{k+4}$
...
$A_i A_j A_{i+n-k-1} (i = 1, 2; j = 2, 3, \dots, n-k-1; j > i)$	2	$n-1$	$= 2C_{n-k-2}^1 (1-e^{-\lambda t})^{n-1}$
$A_1 A_j A_{n-k+1} (j = 2, 3, \dots, n-k)$	1	n	$= C_{n-k-1}^1 (1-e^{-\lambda t})^n$

(2) $P(A_i A_j) (i \neq j; i = 1, 2, \dots, n-k; j = 2, 3, 4, \dots, n-k+1)$ Calculation Tabel 2.3

Table 2.3 Probability Calculation $A_i A_j$

$A_i A_j$	Total number of situations	Failed number of component	Probabilities (P)
$A_i A_{i+1} (i = 1, 2, \dots, n-k)$	$n-k$	$k+1$	$= (n-k)(1-e^{-\lambda t})^{k+1}$
$A_i A_{i+2} (i = 1, 2, \dots, n-k-1)$	$n-k-1$	$k+2$	$= (n-k-1)(1-e^{-\lambda t})^{k+2}$
$A_i A_{i+3} (i = 1, 2, \dots, n-k-2)$	$n-k-2$	$k+3$	$= (n-k-2)(1-e^{-\lambda t})^{k+3}$
...

$A_i A_{i+k-1} (i = 1, 2, \dots, n - 2k + 2)$	$n - 2k + 2$	$2k - 1$	$= (n - 2k + 2)(1 - e^{-\lambda t})^{2k-1}$
$A_i A_{i+k} (i = 1, 2, \dots, n - 2k + 1)$	$n - 2k + 1$	$2k$	$= (n - 2k + 1)(1 - e^{-\lambda t})^{2k}$
$A_i A_{i+k+1} (i = 1, 2, \dots, n - 2k)$	$n - 2k$	$2k$	$= (n - 2k)(1 - e^{-\lambda t})^{2k}$
...
$A_1 A_{n-k+1}$	1	$2k$	$= (1 - e^{-\lambda t})^{2k}$

$P(A_i A_j A_l) (i \neq j \neq l; i = 1, 2, \dots, n - k - 1; j = 2, 3, 4, \dots, n - k; l = 3, 4, \dots, n - k + 1)$

(Note : this probability is the same with $k < n \leq 2k$) Calculation tabel2.4.

$p(t)$ and $R(t)$ are respectively:

$$\begin{aligned}
 p &= P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = \sum_{i=1}^{n-k+1} P(A_i) - \sum_{i=1}^{n-k} \sum_{j=2, j>i}^{n-k+1} P(A_i A_j) + \sum_{i=1}^{n-k-1} \sum_{j=2, j>i}^{n-k} \sum_{l=3, l>j}^{n-k+1} P(A_i A_j A_l) \\
 &+ \dots + (-1)^{n-k} P(A_1 A_2 A_3 \dots A_{n-k} A_{n-k+1}) \\
 &= (n - k + 1)(1 - e^{-\lambda t})^k - \sum_{i=0}^{k-2} C_i^0 (n - k - i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n - k - i)(1 - e^{-\lambda t})^{2k} + \\
 &\sum_{i=1}^{n-k-1} C_i^1 (n - k - i)(1 - e^{-\lambda t})^{k+1+i} + \dots + (-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n - k - i)(1 - e^{-\lambda t})^{k+1+i} \\
 &+ \dots + (-1)^{n-2} C_{n-k-1}^1 (1 - e^{-\lambda t})^n + (-1)^{n-1} (1 - e^{-\lambda t})^n \\
 R(t) &= 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n - k + 1)(1 - e^{-\lambda t})^k \\
 &- \sum_{i=0}^{k-2} C_i^0 (n - k - i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n - k - i)(1 - e^{-\lambda t})^{2k} + \sum_{i=1}^{n-k-1} C_i^1 (n - k - i)(1 - e^{-\lambda t})^{k+1+i} \\
 &+ \dots + (-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n - k - i)(1 - e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1 - e^{-\lambda t})^n + (-1)^{n-1} (1 - e^{-\lambda t})^n]
 \end{aligned}$$

tabel.4 Probability Calculation $A_i A_j A_l$

$A_i A_j A_l$	Total number of situations	Failed number of component	Probabilities (P)
$A_i A_{i+1} A_{i+2} (i = 1, 2, \dots, n - k - 1)$	$n - k - 1$	$k + 2$	$= C_1^1 (n - k - 1)(1 - e^{-\lambda t})^{k+2}$
$A_i A_{i+2} A_{i+3}$ 或 $A_i A_{i+1} A_{i+3}$ $(i = 1, 2, \dots, n - k - 1)$	$n - k - 2$	$k + 3$	$= C_2^1 (n - k - 2)(1 - e^{-\lambda t})^{k+3}$
$A_i A_{i+3} A_{i+4}$ 或 $A_i A_{i+1} A_{i+4}$ 或 $A_i A_{i+2} A_{i+4}$ $(i = 1, 2, \dots, n - k - 3)$	$n - k - 3$	$k + 4$	$= C_3^1 (n - k - 3)(1 - e^{-\lambda t})^{k+4}$
...
$A_i A_j A_{i+n-k-1} (i = 1, 2;$ $j = 2, 3, \dots, n - k - 1; j > i)$	2	$n - 1$	$= 2C_{n-k-2}^1 (1 - e^{-\lambda t})^{n-1}$

$$A_1 A_j A_{n-k+1} (j = 2, 3, \dots, n-k) \quad 1 \quad n \quad = C_{n-k-1}^1 (1 - e^{-\lambda t})^n$$

(3) When $3k < n \leq 4k$, $P(A_i A_j) (i \neq j; i = 1, 2, \dots, n-k; j = 2, 3, 4, \dots, n-k+1)$ and same with when $2k < n \leq 3k$, tabel 2.3.

$P(A_i A_j A_l) (i \neq j \neq l; i = 1, 2, \dots, n-k-1; j = 2, 3, 4, \dots, n-k; l = 3, 4, \dots, n-k+1)$, Calculation Tabel 2.5. $p(t)$ and $R(t)$ are respectively :

$$\begin{aligned} p &= P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = \sum_{i=1}^{n-k+1} P(A_i) - \sum_{i=1}^{n-k} \sum_{j=2, j>i}^{n-k+1} P(A_i A_j) + \sum_{i=1}^{n-k-1} \sum_{j=2, j>i}^{n-k} \sum_{l=3, l>j}^{n-k+1} P(A_i A_j A_l) \\ &+ \dots + (-1)^{n-k} P(A_1 A_2 A_3 \dots A_{n-k} A_{n-k+1}) \\ &= (n-k+1)(1 - e^{-\lambda t})^k - \sum_{i=0}^{k-2} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{2k} \\ &+ \sum_{i=1}^{2k-2} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \sum_{i=2k-1}^{n-k-1} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{3k} - \sum_{i=2}^{n-k-1} C_i^2 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} \\ &\dots + (-1)^{m-1} \sum_{i=m-2}^{n-k-1} C_i^{m-2} (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1 - e^{-\lambda t})^n + (-1)^{n-1} (1 - e^{-\lambda t})^n \end{aligned}$$

$$\begin{aligned} R(t) &= 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n-k+1)(1 - e^{-\lambda t})^k \\ &- \sum_{i=0}^{k-2} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{2k} + \\ &\sum_{i=1}^{2k-2} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \sum_{i=2k-1}^{n-k-1} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{3k} - \sum_{i=2}^{n-k-1} C_i^2 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} \end{aligned}$$

Tabel 2.5 Probability Calculation $A_i A_j A_l$

$A_i A_j A_l$	Total situations	Filed component	Probability (P)
$A_i A_{i+1} A_{i+2} (i = 1, 2, \dots, n-k-1)$	$n-k-1$	$k+2$	$= C_1^1 (n-k-1)(1 - e^{-\lambda t})^{k+2}$
$A_i A_{i+2} A_{i+3}$ 或 $A_i A_{i+1} A_{i+3}$ $(i = 1, 2, \dots, n-k-1)$	$n-k-2$	$k+3$	$= C_2^1 (n-k-2)(1 - e^{-\lambda t})^{k+3}$
$A_i A_{i+3} A_{i+4}$ 或 $A_i A_{i+1} A_{i+4}$ 或 $A_i A_{i+2} A_{i+4}$ $(i = 1, 2, \dots, n-k-3)$	$n-k-3$	$k+4$	$= C_3^1 (n-k-3)(1 - e^{-\lambda t})^{k+4}$
...
$A_i A_j A_{i+2k-1} (i = 1, 2, \dots, n-3k+2;$ $j = 2, 3, \dots, n-3k+1; j > i)$	$n-3k+2$	$3k+1$	$= C_{2k-2}^1 (n-3k+2)(1 - e^{-\lambda t})^{3k+1}$
$A_i A_j A_{i+2k} (i = 1, 2, \dots, n-3k+1;$ $j = 2, 3, \dots, n-3k; j > i)$	$n-3k+1$	$3k$	$= C_{2k-1}^1 (n-3k+1)(1 - e^{-\lambda t})^{3k}$
$A_i A_j A_{i+2k+1} (i = 1, 2, \dots, n-3k;$ $j = 2, 3, \dots, n-3k-1; j > i)$	$n-3k$	$3k$	$= C_{2k}^1 (n-3k)(1 - e^{-\lambda t})^{3k}$
...

$A_i A_j A_{i+n-k-1} (i = 1, 2; j = 2, 3, \dots, n-k-1)$	2	$3k$	$= 2C_{n-k-2}^1 (1 - e^{-\lambda t})^{3k}$
$A_1 A_j A_{n-k+1} (j = 2, 3, \dots, n-k)$	1	$3k$	$= C_{n-k-1}^1 (1 - e^{-\lambda t})^{3k}$

5. Conclusion

It can be deduced from the above three classifications: when $jk < n \leq (j+1)k (j \geq 2)$, $p(t)$ and $R(t)$ are respectively:

$$\begin{aligned}
p &= P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = \sum_{i=1}^{n-k+1} P(A_i) - \sum_{i=1}^{n-k} \sum_{j=2, j>i}^{n-k+1} P(A_i A_j) + \sum_{i=1}^{n-k-1} \sum_{j=2, j>i}^{n-k} \sum_{l=3, l>j}^{n-k+1} P(A_i A_j A_l) \\
&+ \dots + (-1)^{n-k} P(A_1 A_2 A_3 \dots A_{n-k} A_{n-k+1}) \\
&= (n-k+1)(1 - e^{-\lambda t})^k - \sum_{i=0}^{k-2} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{2k} \\
&+ \sum_{i=1}^{2k-2} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \sum_{i=2k-1}^{n-k-1} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{3k} - \\
&\sum_{i=2}^{3k-2} C_i^2 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=3k-1}^{n-k-1} C_i^2 (n-k-i)(1 - e^{-\lambda t})^{4k} \dots + \\
&(-1)^{j-1} \sum_{i=j-2}^{(j-1)k-2} C_i^{j-2} (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + (-1)^{j-1} \sum_{i=(j-1)k-1}^{n-k-1} C_i^{j-2} (n-k-i)(1 - e^{-\lambda t})^{jk} + \\
&(-1)^{m-1} \sum_{i=m-2, m>j}^{n-k-1} C_i^{m-2} (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1 - e^{-\lambda t})^n + (-1)^{n-1} (1 - e^{-\lambda t})^n \\
R(t) &= 1 - P(A_1 \cup A_2 \cup A_3 \cup \dots \cup A_{n-k+1}) = 1 - [(n-k+1)(1 - e^{-\lambda t})^k \\
&- \sum_{i=0}^{k-2} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=k-1}^{n-k-1} C_i^0 (n-k-i)(1 - e^{-\lambda t})^{2k} \\
&+ \sum_{i=1}^{2k-2} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \sum_{i=2k-1}^{n-k-1} C_i^1 (n-k-i)(1 - e^{-\lambda t})^{3k} - \\
&\sum_{i=2}^{3k-2} C_i^2 (n-k-i)(1 - e^{-\lambda t})^{k+1+i} - \sum_{i=3k-1}^{n-k-1} C_i^2 (n-k-i)(1 - e^{-\lambda t})^{4k} \dots + \\
&(-1)^{j-1} \sum_{i=j-2}^{(j-1)k-2} C_i^{j-2} (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + (-1)^{j-1} \sum_{i=(j-1)k-1}^{n-k-1} C_i^{j-2} (n-k-i)(1 - e^{-\lambda t})^{jk} + \\
&(-1)^{m-1} \sum_{i=m-2, m>j}^{n-k-1} C_i^{m-2} (n-k-i)(1 - e^{-\lambda t})^{k+1+i} + \dots + (-1)^{n-2} C_{n-k-1}^1 (1 - e^{-\lambda t})^n + (-1)^{n-1} (1 - e^{-\lambda t})^n]
\end{aligned}$$

The above formulas serve as references for the calculation of the reliability of linear consecutive k -out-of- n systems of different components and different types in engineering, which can be done only by putting the corresponding parameters. The reliability calculation formula of other distribution parameters can also be similarly obtained by following this classification.

References

- 【1】 曹晋华, 程侃.《可靠性数学引论》(修订版).北京: 高等教育出版社, 2012.
- 【2】 W.Weibull. 1939. *A statistical theory of strength of materials, Ing. Vetenskaps Akad. Hand*, 151: 1-45.
- 【3】 E.J.Gumbel. 1935. *Les valeurs extremes des distributions statistiques. Annales de l'Institute Henri Poincare*,4: 115.
- 【4】 B. Epstein. 1948. Application of the theory of extreme values in fracture problems, *J. Amer. Statist. Assoc*, 43: 403-412.
- 【5】 Eryilmaz.s, Jorge Navarro. 2012. *Failure rates of consecutive k out of n systems. Journal of the Korean statistical society*, 41: 1-11.
- 【6】 Song Y, Liu S.Y, Feng H.L. 2006. *Reliability analysis of consecutive k out of n: F repairable system with multistate component. China Academic Journal Electronic Publishing House*, 28: 2.
- 【7】 J.M.Kontoleon. 1980. Reliability Determination of a R-Successive-out-of-N: F System. *EEE Trans. Reliability*, 29: 437-411.
- 【8】 M.Lambiris, S. Papastavris. 1985. Exact Reliability Formula for Linear and Circular Consecutive-k-out-of-n:F System. *IEEE Trans. Reliability*, 34: 124-127.
- 【9】 Shanthikumar.J.G. 1982. Recursive algorithm to evaluate the reliability of a consecutive k out of n: F system. *IEEE Trans. Reliab*, 5: 442
- 【10】 Hwang. F. K. 1986. Simplified Reliabilities for consecutive k out of system. *SIAM J ALG DISC METH*, 2: 258-246.
- 【11】 Fu J. C. 1986. Reliability of consecutive k out of n :F system with $(k-1)$ step Markov dependence. *IEEE Trans. Reliab*, 35: 602.
- 【12】 Lam, Y. Repairable consecutive k out of n: F system with Markov dependence, *Naval Res. Logist.* 47(2000).
- 【13】 Kontelon JM. Reliability determination of a r-successive-out-of-n:F system. *IEEE Trans. Rel*, 1980.
- 【14】 Takagi H. *Queuing analysis: A foundation of Performance evaluation, vacation and Priority systems.* North—Holland: Amsterdam, 2007, Part 1, VOI. 1
- 【15】 Ke J C, Wang K H. Vacation Policies for machine repair Problem with two type spares. *Applied Mathematical Modeling*, 2007, 31, 880—894
- 【16】 Xian-yun Meng, Li Yuan, Rui-ling Yin. *The Reliability Analysis of a Two-unit Cold Standby System with Failable Switch and Maintenance Equipment.* 2006.
- 【17】 Jer-Shyan Wu. *Efficient Algorithms for Computing the Reliability of Consecutive-k-out-of-n: F Systems with i.i.d. Components.* 2000: 168-170
- 【18】 Serkan Eryilmaz, Jorge Navarro. *Failure rates of consecutive k-out-of-n systems.* 2012: 1-11.
- 【19】 Yuan Lin Zhang, Ming J. Zuo. *Reliability analysis for a circular consecutive-2-out-of-n:F repairable system with priority in repair.* 2000: 113-120
- 【20】 Jiancheng Guan, Yueqin Wu. *Repairable consecutive-k-out-of-n:Fsystem with fuzzy states.* 2006: 121-142.
- 【21】 Nurwidiyanto, Chen qin, zhang luo. *Linear Consecutive k/n:F unrepairable system.* Nanchang university, 2015: Vol. 37 No.1
- 【22】 Dong Qiuxian, Xu Dongyang, Liu Ruliang.*Compound Extreme Value Theory and Its Applications in Emergencies. ISEM/SEISEM 2011(ISTP)*
- 【23】 Xu Dongyang, Dong Qiuxian, liu Ruliang. *Realibility Study of Complex Repairable System. The 2012 5th International Conference o Management Engineering and Technology of Statistics (EI)*